
N = 2173
2173 circles in a circle

radius =   0.020122860169
ratio  =  49.694724885693

density  = 0.879911806481
contacts = 4936

 E.SPECHT
01-MAY-2014

N = 2174
2174 circles in a circle

radius =   0.020118216565
ratio  =  49.706195216766

density  = 0.879910494494
contacts = 4292

 E.SPECHT
01-MAY-2014

N = 2175
2175 circles in a circle

radius =   0.020111342016
ratio  =  49.723186010735

density  = 0.879713718987
contacts = 4188

 E.SPECHT
01-MAY-2014

N = 2176
2176 circles in a circle

radius =   0.020103983232
ratio  =  49.741386494311

density  = 0.879474228509
contacts = 4092

 E.SPECHT
02-MAY-2014

N = 2177
2177 circles in a circle

radius =   0.020103734101
ratio  =  49.742002903072

density  = 0.879856591672
contacts = 4118

 E.SPECHT
02-MAY-2014

N = 2178
2178 circles in a circle

radius =   0.020101847528
ratio  =  49.746671225828

density  = 0.880095548844
contacts = 3842

 E.SPECHT
03-MAY-2014

N = 2179
2179 circles in a circle

radius =   0.020097504300
ratio  =  49.757421871589

density  = 0.880119190697
contacts = 5255

 E.SPECHT
03-MAY-2014

N = 2180
2180 circles in a circle

radius =   0.020095619953
ratio  =  49.762087576078

density  = 0.880357992030
contacts = 4009

 E.SPECHT
04-MAY-2014

N = 2181
2181 circles in a circle

radius =   0.020094075948
ratio  =  49.765911237050

density  = 0.880626488140
contacts = 3883

 E.SPECHT
30-APR-2014

N = 2182
2182 circles in a circle

radius =   0.020090918784
ratio  =  49.773731643266

density  = 0.880753428333
contacts = 4361

 E.SPECHT
30-APR-2014

N = 2183
2183 circles in a circle

radius =   0.020085614590
ratio  =  49.786875851793

density  = 0.880691867080
contacts = 3835

 E.SPECHT
01-MAY-2014

N = 2184
2184 circles in a circle

radius =   0.020081659485
ratio  =  49.796681430757

density  = 0.880748336158
contacts = 4151

 E.SPECHT
01-MAY-2014


